[08] WAt A—~EGE

X2 Tsil FABBAN)
NAtri— 503
NAt 23 —Hi 140
5 1R 5 Al 55
& AT El 209
RehA 96
=1L 291
ZHET 594
ftt P9 54
= RHT 159
EETE = DT 90
FIRETZT B 74
T & AERT 151
i far BT 114
F N ET 149
EMRAETT 124
EHBTER 81
WY AT 116
AMEEFR 48
AMBAEE 2 T —HI 1
i 728 T 16
i/ F 117
L/ TEMEFAT 103
RILHE 68
Jb ZEET 156
ME—-TH 78
BEILBT—T B 141
HILET=TH 42
B P25 9 e A 515

20144 10R

(%)

100
90
80
70
60
50
40
30
20
10

0

3R BIRERE

77.1

z

CO0O0000000
oRNWRUION©

FMRE#R &

0.7

FRAEHEIS

29%

71%

Nt i—~ AMAEESLT—H]

B AT ~ B R AT

-1/1-




